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Answers of all the questions (Short answer as well as descriptive) are 10 be given i the main answer brok
only. Answer of short answer type questions must be given in sequential order. Similarly all the parts of
one question of descriptive part should be answered at one place in the answer book. One complete
question should not be answered at different places in the answer-book.
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Write the example of IS€Ctivorous plan.
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Name histogen layers descTibed by Hanstein.
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What is anomalous secondary srowth?
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Define radicle leaves.
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Kranz anatomy is found in which type of plant?

e TR 58 TBR & del ¥ urfly el 22

What are passage cells?
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Define napiform roots.
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“lf' \ “\Give the names of any two psychrophytes.
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Write an example of monopodial branching.
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Explain Micropropagation.
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Give the definition of anemochory.
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What is caruncle?
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Name the COmponentg of monocot seed (wheat).
W W B srerat @ 19 Aord |

Which hﬁﬂnones are he]pful in seed development?
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UNIT-1 /&1

[3+3=61

\Write shorl note on the Tollowing -
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| (i) Sympuodial Branching,
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Variations on basis of habitat of plants.
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suitable diagrams.
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Define anomalous secondary growth. Describe it in Bignonia and Leptadenia with
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Write short note on the following -
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(1) VAM mycorrhiza
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(i)  Anatomical differcnces between Dicot and Monocot leaf.
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UNIT-IV / goré-1V
Describe various methods of natural vegetative propagation and their importance
in horticulture science. 161
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Write short note on the following -
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(1) Seed dispersal by Animals.
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(i) Structure of 3 Digot secd.
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